EZEW A TN

(2000 LAP=)

1/500 (AOAR)

NI
AN
7780 | 7781 | 7782
7790 7792
8700 = 8701 | 8702

: A B C D /7781 E F G H :
-23700.00 ‘ ~ ‘ -23700.00
®
1 1
ITRIFPILELEREE Y 5 —
2 Shel | R%&Z >V F 2
72 FETIHFPMELE
3 T2 FPETRXFRPEFE 3
J N
O )
S N
N
4 4
5 5
o R%(, FRFALZTE N
.
¥
% \ 2
%‘%\\ N\
@ 0 f?\\\\
® 12 = D
APIE=TH
6 6
mEn R4t
A B C
X COXE DB FHER. $FCRROBRVIEDERREPILXICIFELE I,

XFABICHIO TS, FIRARFINRUVBESEIRZETL TIZE0,

1 / 500

100m
]




1970 )

1/500 AO N

NI
ZUITTTNN

000000000

7780 7781 7782

7790 7792

8700 8701 8702

000000000

......




